
互文性和文体分析

德龙 (Donald Sturgeon)
英国杜伦大学

计算机科学系

相关资料和PPT下载：https://dsturgeon.net/pku2023



概要

A. 正则表达式 Regular expressions
B. 互文性 Intertextuality
C. 文体分析 Stylometry
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互文性（Intertextuality）

1. 什么是「互文性」？
2. 动机：实际的研究案例
3. 技术：用什么样的技术手段把互文性给找出来？
4. 实践：大家一起来体验一下吧！

相关资料和PPT下载：https://dsturgeon.net/pku2023



1.什么是互文性？

互文性：文本间的非偶然相似性 （我今天的定义，仅供参考！）

例如

• 文本A引用了文本B的内容
• 文本A抄袭了文本B的内容
• 文本A故意让读者想起文本B的内容 => Allusion（暗示、典故）
• 文本A和文本B有作者潜意识留下来的相似度 => Stylometry（计量文体学）

前两种比较容易用简单数子方法找出来

后两种也可以用电脑处理，但难度高一些

Text reuse
(文本再利用)



1.什么是互文性？
Global text reuse
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1.什么是互文性？
Local reuse
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1.什么是互文性？

陽貨學而
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1.什么是互文性？

堯曰陽貨

恭則不侮，寬則得眾，信則人任焉，敏則有功，惠則足以使人。

所重：民、食、喪、祭。寬則得眾，信則民任焉，敏則有功，公則說。
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Global vs local reuse

Global
• Usually a question of similarity of documents
• May not require alignment of similar parts
Local
• (Possibly) isolated regions of d1 and d2

• Often multiple similarities between d1 and d2

• Similar regions may not occur in order*
• Many applications require local alignments

d2

d1

9
* If we know that they do, or if we only need the most similar pair, things get much easier

d2d1
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2.动机：为什么看互文性？
例子：先秦文献中的「相似段落」/「重见资料」
传统人文研究也十分重视互文性

用传统方法，找出互文性并不简单

电脑能不能：

1. 帮我们找的更快？
2. 帮我们找的更好？
3. 如果能找的好，能不能帮我们宏观看互文性现象在文本间的特性？

Unsupervised identification of text reuse in early Chinese literature
https://dsturgeon.net/text-reuse-chinese-literature/ 11

https://dsturgeon.net/text-reuse-chinese-literature/


研究案例：先秦两汉传世文献的文本再利用

研究目标：

• 电脑能准确找出「相似段落」吗？
• 怎么评估结果的正确性？

• 先秦中各种类型古籍文献之间的相似段落情况如何？
• 哪些古籍跟哪些古籍有较多/较少的互文性？
• 怎么给这个问题一种具体的呈现？
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2.动机：为什么看互文性？

《荀子·正名》：
「見侮不辱」，「聖人不愛己」，「殺盜非殺人也」，此惑於用名以亂名者也。
驗之所為有名，而觀其孰行，則能禁之矣。「山淵平」，「情欲寡」，「芻豢不

加甘，大鐘不加樂」，此惑於用實，以亂名者也。…

（清）孫詒讓《墨子閒詁》：

… 「聖人不愛己」，「殺盜非殺人也」，此惑於用名以亂名者也。 …
…愛盜非愛人也；不愛盜非不愛人也；殺盜人非殺人也， …墨子

荀子
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2.动机：为什么看互文性？

（清）孫詒讓《墨子閒詁》：

...人人也，愛盜非愛人也；不愛盜非不愛人也；殺盜人非殺人也，無難盜無難矣。
此與彼同類，世有彼而不自非也，墨者有此而非之，無也故焉，...
……有命，非命也；非執有命，非命也，無難矣。此與彼同，世有彼而不自非也，
墨者有此而罪非之，無也故焉，所謂內膠外閉與心毋空乎？內膠而不解也。...

1

2
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2.动机：为什么看互文性？
例子：先秦文献中的「相似段落」/「重见资料」
问题一：我这次想找的「互文性」是什么？

• 论文中的说明：「For the purposes of this study, ‘parallel passages’ are 
defined as sections of text which contain significant common 
subsequences of characters having a high degree of similarity, and in 
addition appear likely to be causally related in terms of word choice by 
something more than the writers shared linguistic competence of the 
language.」 …今予發惟恭行天之罰。今日之事，…

…予非爾田野葆士之欲也，予共行天之罰也。左不共于左， …

…必謹所堪者，此之謂也。…

… 《書》云：「凡人自得罪。」此之謂也。 …



2.动机：为什么看互文性？
例子：先秦文献中的「相似段落」/「重见资料」
问题二：怎么让电脑去找出符合这种定义的相似段落？

• 这个等会儿再说（详细说明可以参考论文）

问题三：怎么证明电脑多么准确找到了这种互文性？

• 看电脑所找出来的例子是不是好例子…这样够吗？
• 不够：还要看有没有漏掉了很多例子

• 如果有现成的比较完整的数据或参考书，可以抽出一部分系统地比较
=>所谓的「Test set」
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2.动机：为什么看互文性？
例子：先秦文献中的「相似段落」/「重见资料」
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2.动机：为什么看互文性？
例子：先秦文献中的「相似段落」/「重见资料」
怎么证明电脑多么准确找到了这中互文性？

电脑找出的例子符合条件的例子

参考书目的例子
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我到底想要什么？！
或者说：电脑算出来的结果是对的吗？

• 问题一：我希望电脑可以找出来哪一些相似的例子？
• 问题二：电脑实际上是否找到了我想要的那些例子？
1. 有一些我想要的，电脑没找到！ 「false negative」
2. 有一些我不想要的，电脑反而说有！ 「false positive」

1. Precision（精准率）：电脑说的那些例子，百分之多少是对的？
2. Recall（召回率）：实际上存在的那些例子，电脑找到了百分之多少？
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我到底想要什么？！
或者说：电脑算出来的结果是对的吗？

與香港中文大學ICS《荀子》首篇的比較

精確率 召回率

ICS (寬鬆) 100% 54%

CTP (寬鬆) 100% 94%
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我到底想要什么？！
或者说：电脑算出来的结果是对的吗？

参考书目落掉了的例子：

順風而呼，聲非加疾也， 《荀子》

順風而呼，聲不加疾也； 《呂氏春秋》

比如順風而呼，聲非加疾， 《史記》

青取之於藍，而青於藍； 《荀子》

青采出於藍，而質青於藍 《史記》

古之學者為己，今之學者為人 《荀子》

古之學者為己，今之學者為人 《論語》



互文性的可视化

Highly specific to corpus & reuse
• Is reuse (mostly?) sequential?
• What are the aligned units?
• At what scales will it be done?

• Between works
• Between parts of works
• Between lines of text, …

• Alignments expensive
• Highly interpretable on an instance level
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Document A

Document B

https://www.jstor.org/stable/24582958

https://www.jstor.org/stable/24582958


文性的可视化

Small-scale alignments
• Highlighting of text
• Connecting similar text

• Including reordering
• Hard to directly scale

• Breaks down when text is 
outside visual field

A Survey of Text Alignment Visualization 

Two different early editions of 
the same work by Shakespeare

• Makes use of natural units of 
comparison (lines of poetry)

• Will work best for texts with 
mostly “near by” similarities

23

https://imada.sdu.dk/~stjaenicke/data/papers/A_Survey_of_Text_Alignment_Visualization.pdf


文性的可视化

Even smaller scales can be useful…

Visualizations for text reuse
24

Multiple (closely aligned and highly similar) alignments as a term graph

Colorization of differences within closely aligned segments of text

ctext.org

… and so can larger ones

https://www.scitepress.org/Papers/2014/46925/46925.pdf
https://ctext.org/text.pl?node=41935&if=en&show=parallel
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Nodes represent 
individual literary 
works; edges 
summarize reuse 
instances between 
pairs of work (e.g. 
10~1000 instances 
per edge). Corpus 
size: ~5 million words

Unsupervised Identification of Text Reuse in Early Chinese Literature

https://dsturgeon.net/text-reuse-chinese-literature/


Visualization of text reuse – interaction

Interactive interfaces 
allow navigating complex 
information at multiple 
user-selectable scales
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“Big picture” alignment 
summary (2 texts)

Textual details with fine-grained alignments 

Designing Close and Distant Reading Visualizations for Text Re-use

https://www.informatik.uni-leipzig.de/~stjaenicke/Designing_Close_and_Distant_Reading_Visualizations_for_Text_Re-use.pdf


Unsupervised Identification of Text Reuse in Early Chinese Literature
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Heatmap; darker shades: more 

overlapping similarities across a 

large corpus at these points

Complex visualization because many 

alignments overlap in complex ways in this 

corpus (e.g. one pair [left] duplicates the 

entire passage, and hence overlaps with 

the many smaller [contained] alignments 

occurring in both this and other works)

Local heatmap showing differences 

among all the locally aligned versions 

of part of the larger passages

https://dsturgeon.net/text-reuse-chinese-literature/


Other types of reuse: literary allusion

《論衡》：是故楊子哭岐道，墨子哭練絲也，蓋傷離本，不可復變也。

《墨子》：子墨子言見染絲者而歎曰：「染於蒼則蒼，染於黃則黃。所入者變，
其色亦變。五入必而已，則為五色矣。故染不可不慎也。」非獨染絲然也，國
亦有染。…

• 历史时间上的前后顺序
• 所指的文本具体的界限不一定完全清楚
• 有时候可能有多数可能的文本来源



Other types of reuse: literary allusion
…
SECOND WITCH.
By the pricking of my thumbs,
Something wicked this way comes.
Open, locks,
Whoever knocks!
…

(Macbeth, Shakespeare, c. 1623)

… By the stinking of my nose, something 
evil this way goes, she added, to stop 
herself gibbering as she scanned the 
distant hedge for movement. …

(I Shall Wear Midnight, Terry Pratchett, 2010)

Much harder to identify without false positives

Some constraints

• Directional: later => earlier (?earliest)

• Strongly biased (allusion to famous works)

Partly supervised approach, multiple features

• Alignment + more sophisticated scoring

• Relationships between substituted tokens

• Syntactic similarities (same POS)

• Semantic similarities (e.g. “comes”, “goes”)

• Sentence structure similarity

• Locally parallel structures

• Similarity of parse trees

“Shakespeare in the Vectorian Age”: detection of Shakespeare quotes 30

https://www.aclweb.org/anthology/2020.latechclfl-1.7.pdf


3. 技术：分词Tokenization

Language specific task!
• Not trivial for all languages

• Not necessarily as trivial as it seems even for alphabetic languages
• E.g. do we really want “New York” as two tokens “New” and “York”?

保持共产党员先进性教育活动S1 =

保持 共产党员 先进性 教育 活动T1 =

保持 共产党员 先进 性教育 活动T2 =

• Both syntactically 
valid tokenizations

• Different meanings

• No common rules 
across all 
languages

• Tokenization for 
e.g. Chinese is a 
non-trivial NLP task

31



3. 技术：用什么样的技术手段把互文性给找出来？

文本向量 Document vectors
• 简单、快速
• 比较适合分析global互文性
• 只看出现的词汇而忽视词出现的顺序：所谓的「Bag of words」词袋模型
N-grams
• 适用于global和local互文性
• 适合分析有连续性的互文性（如：引用、抄袭等）
其它的或自定的方法

• 可以针对所想处理的互文性制定自己的标准
• 可用precision、recall等来验证、比较不同方法的有效性



3. 技术：向量 Vectors

什么是「向量」？

• 经常在自然语言处理中，我们会用一个「向量」表示一个词、文本等
• 只不过是一系列的数字而已！
• 用数字作为某一种语言表达的代替品

• 为什么？数字是可以直接计算的；如果我们数字和它所代表的语言对象
（词或文本）有某种固定关系，我们可以透过向量的计算或比较来了解语
言对象之间的关系

• 每次说到向量，我们都会先定义要用多少数字（维度）
• 一维 =一个数字；二维 =两个数字；三百位 =三百个数字…

• 例如：「北大」用 [10, 30, 0, 5] （四维向量）表示



3. 技术：文本向量 Document vectors
文本A
文本B
文本C
文本D
第十二届全国人民代表
大会第四次会议5日上午
在人民大会堂开幕。国
务院总理李克强向大会
作政府工作报告时指出，

今年发展的主要预期目
标是：国内生产总值增
长6.5%-7%，这一目标考
虑了与全面建成小康社
会目标相衔接，考虑…

向量A

0
3
8
2
1
2
4
9

向量B

3
6
1
7
2
2
2
0

向量C

0
3
7
0
1
2
6
9

向量D

0
3
8
0
1
2
6
8

假如向量C和向量D有相
似性，可以推论文本C和
文本D也有相似性



3. 技术：文本向量 Document vectors

文本向量怎么做？

1. 先制定一个「词汇」vocabulary
• 方法一：看所有文本中出现的所有的词

• 方法二：自定自己想分析的词汇

2. 在每一个文本里头：
• 针对词汇中每一个项目（token，通常是词语）：
– 写下之个token在这个文本中出现的总数

这种方法得出的向量叫做「Term frequency vectors」（词频向量）



3. 技术：文本向量实例

这句话只是一个例子，
只是想说明向量是什么。

这也是一个例句。

再举个例子吧。

文本A

文本B

文本C

这 /句 /话 /只 /是 /一 /个 /例子 /，/
只 /是 /想 /说明 /向量 /是 /什么 /。

这 /也 /是 /一 /个 /例句 /。

再 /举 /个 /例子 /吧 /。



3. 技术：文本向量实例

文本A

文本B

文本C

这 /句 /话 /只 /是 /一 /个 /例子 /，
/只 /是 /想 /说明 /向量 /是 /什么 /。

这 /也 /是 /一 /个 /例句 /。

再 /举 /个 /例子 /吧 /。

这

句

话

只

是

一

个

例子

，

想

说明

向量

什么

。

也

例句

举

吧

词汇
1
1
1
2
2
1
1
1
1
1
1
1
1
1
0
0
0
0

向量A
1
0
0
0
1
1
1
0
0
0
0
0
0
1
0
1
0
0

向量B
0
0
0
0
0
0
1
1
0
0
0
0
0
1
0
0
0
1

向量C



3. 技术：文本向量的相似度计算

常用的向量相似度计算方法：cosine similarity

这

句

话

只

是

一

个

例子

另

话题

词汇

1
1
1
1
1
2
1
1
0
0

向量A
1
0
0
0
1
1
1
1
0
0

向量B
0
0
0
0
0
1
1
0
1
1

向量C

文本A

文本B

文本C

这 /一 /句 /话 /只 /
是 /一 /个 /例子

这 /是 /一 /个 /例子

另 /一 /个 /话题



3. 技术：文本向量的相似度计算

常用的向量相似度计算方法：cosine similarity

这

句

话

只

是

一

个

例子

另

话题

词汇

1
1
1
1
1
2
1
1
0
0

向量A
1
0
0
0
1
1
1
1
0
0

向量B

文本A

文本B

文本C

这 /一 /句 /话 /只 /
是 /一 /个 /例子

这 /是 /一 /个 /例子

另 /一 /个 /话题

x
x
x
x
x
x
x
x
x
x

=
=
=
=
=
=
=
=
=
=

1
0
0
0
1
2
1
1
0
0
6



3. 技术：文本向量的相似度计算

常用的向量相似度计算方法：cosine similarity

这

句

话

只

是

一

个

例子

另

话题

词汇

1
1
1
1
1
2
1
1
0
0

向量A
1
0
0
0
1
1
1
1
0
0

向量B

文本A

文本B

文本C

这 /一 /句 /话 /只 /
是 /一 /个 /例子

这 /是 /一 /个 /例子

另 /一 /个 /话题

2
2
2
2
2
2
2
2
2
2

=
=
=
=
=
=
=
=
=
=

1
1
1
1
1
4
1
1
0
0
11

2
2
2
2
2
2
2
2
2
2

=
=
=
=
=
=
=
=
=
=

1
0
0
0
1
1
1
1
0
0
5



3. 技术：文本向量的相似度计算

常用的向量相似度计算方法：cosine similarity

这

句

话

只

是

一

个

例子

另

话题

词汇

1
1
1
1
1
2
1
1
0
0

向量A
1
0
0
0
1
1
1
1
0
0

向量B
0
0
0
0
0
1
1
0
1
1

向量C

文本A

文本B

文本C

这 /一 /句 /话 /只 /
是 /一 /个 /例子

这 /是 /一 /个 /例子

另 /一 /个 /话题

sim(A,B) = !
"" #

= 0.809

sim(A,C) = $
"" %

= 0.452

文本B比起文本C
更相似于文本A



3. 技术：Cosine similarity和向量空间

Document 1: cat cat cat cat
Document 2: cat dog

Document 3: dog dog cat dog 

Document 4: dog dog cat cat

Document 5: cat cat cat dog 

Document 6: dog dog dog dog 
多少个「cat」

多
少
个
「

do
g」

• Document 5 is the closest document to document 1
• Document 2 and document 4 are “the same”



3. 技术：文本向量的相似度计算

另一个常用技术：IDF（Inverse Document Frequency）
• TF向量中，每一个词汇中的单词的重要性是一样的
• 例如「一」、「的」都看作和「例子」、「北大」、「历史系」一样重要

• 通常反而是越罕见的词汇约重要
• 例如：两个文本都多次出现「一」和「的」并不代表它的内容相关；
两个文本都有许多「北大」和「历史系」，内容就有某种相似性

• TF-IDF会把出现在语料库中越少数文本中的词汇视为越重要



3. Cosine similarity

How similar are two documents, e.g. S1 and S2?
• Compare their vectors:
Cosine similarity for vectors A and B:

Þ Cosine similarity is a number from 0 to 1, and:
• 0 when A and B are orthogonal

• Intuitively (for TF vectors) S1 and S2  have no terms in common at all
• 1 when A and B are scalar multiples of one another

• Intuitively (for TF), all terms in S1 and S2 occur in identical proportions

D1 D2

D3θ

44



3. Inverse Document Frequency (IDF)

So far, all shared tokens between S1 and S2 count equally towards similarity

• Includes common terms like “the”, “a”, and punctuation

Intuitively, S1 and S2 sharing “persuasion” is more significant than sharing “,”

• [“,” in fact contributes much more to sim(S2,S3), because it appears twice]

Easy approaches:

• Remove punctuation

• Remove common or “meaningless” words (“the”, “a”, etc.) – “stop words”

• Both are language-specific: rely on some knowledge of the language

• 。，、《》「」『』？！“” vs      . , : ! ? “” " [ ] { } …
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3. Inverse Document Frequency (IDF)

Heuristic technique (mainly for larger corpora than our example)
• Terms occurring in many (or all) documents provide less information

• Co-occurrence of t in S1, S2 more significant for rare t than common t
• DFt = # of documents containing t
• IDFt = log(N/DFt),  N=# of documents

• Replace TF in vectors with TF*IDFt

• “TF-IDF” vectors

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

In
ve
rs
e	D

oc
um

en
t	F
re
qu

en
cy
	(I
DF

)

Number	of	documents	a	term	occurs	in

[punctuation
marks]

a, the, of

persuasion

xenomorph

power

anthropological

example

Example of IDF in a 
corpus: illustration only, 
not calculated from our 
earlier example



3. Document vectors

Usually very sparse
• Most components of most vectors are 0

• Most documents do not contain most vocabulary
Useful where “bag of words” assumption is reasonable
• E.g. topic modelling: interested in “content” in the sense of subject matter

• Order and context less important than frequent mentions of terms
• vs e.g. text reuse => vectors can only be used to detect reused vocabulary
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3. Cosine similarity – example 

Two versions of “the same” novel
Substantial differences
Different chapters
Different lengths
Some parts very similar
Some parts unique to each

12 chapters, 1865 4 chapters, 1864

a) b)



3. Cosine similarity – example 

Similarity matrix:

Each cell colored by simcosine(Di, Dj)

Solid white: 0  solid red: 1

Blue & green two document groups

a) Alice in Wonderland

b) Alice’s Adventures Underground

Green line indicates actual 
reorganization of texts a) and b)

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16Di

Dj

a)

b)

a) b)



3. Cosine similarity – example
Interpretability

1
2
3
4
5
6
7
8
9

10
11
12

13 14 15 16

13
14
15
16

1 2 3 4 5 6 7 8 9 10 11 12

Ai Bi AiBiti

Vo
ca

bu
la

ry
 so

rt
ed

 b
y 

A i
B i



3. Cosine similarity – example
Interpretability

1
2
3
4
5
6
7
8
9
10
11
12

13 14 15 16

13
14
15
16

1 2 3 4 5 6 7 8 9 10 11 12

Ai Bi AiBiti
In this case, the 
most significant 
contribution is from 
noise!
Normalization and 
data cleaning are 
important!



3. 技术：n-grams（动机）

词袋模型的明显缺点：完全忽略顺序！

I usually hate scifi but I love this one.

I usually love scifi but I hate this one.

positive

negative

In a bag of words 
representation (e.g. TF-
IDF vectors), these two 
documents have identical 
representations!

I
usually
hate
scifi
but
love
this
one

2
1
1
1
1
1
1
1

D1
2
1
1
1
1
1
1
1

D2

D1

D2

關雎 /，/ 樂 / 而 / 不 / 淫 /，/ 哀 / 而 / 不 / 傷 /。

關雎 /，/ 傷 / 而 / 不 /哀 /，/ 淫 / 而 / 不 / 樂 /。



3. 技术：n-grams

什么是一个「n-gram」？
• 「n」是一个固定数字（例如，n=1；n=2；n=3；…）
• 一个「n-gram」是指n个token按顺序出现在一起
• 1-gram =一个词/字（token）
• 2-gram =两个词/字
• 3-gram =三个词/字
• …



3. 技术：n-grams，n=1，以字为单位（token）

天命之謂性，率性之謂道，修道之謂教。

天 1
命 1
之 3
謂 3
性 2
， 2

率 1
道 2
修 1
教 1
。 1

1-gram：哪些词（字）出现在我们的文本？总共出现多少次？



3. 技术：n-grams，n=2，以字为单位（token）

天命之謂性，率性之謂道，修道之謂教。
2-gram：哪些长度等于2的词（字）串出现在我们的文本？总共出现多少次？

天命 1
命之 1
之謂 3
謂性 1
性， 1
，率 1

率性 1
性之 1
謂道 1
道， 1
，修 1
修道 1

道之 1
謂教 1
教。 1



3. 技术：n-grams，n=3，以字为单位（token）

天命之謂性，率性之謂道，修道之謂教。
3-gram：哪些长度等于3的词（字）串出现在我们的文本？总共出现多少次？

天命之 1
命之謂 1
之謂性 1
謂性， 1
性，率 1
，率性 1

率性之 1
性之謂 1
之謂道 1
謂道， 1
道，修 1
，修道 1

修道之 1
道之謂 1
之謂教 1
謂教。 1



3. 技术：n-grams

天下 1218
諸侯 964
將軍 865
以為 846
於是 843
太子 824
二十 615
天子 608

而不 382
天下 372
人之 300
君子 299
也故 240
之謂 220
之所 217
者也 197

君子 186
之子 62
我心 46
子之 42
文王 41
不我 38
不可 37
見君 33

《史記》 《荀子》 《詩經》



3. 技术：正规化

天下 1218
諸侯 964
將軍 865
以為 846
於是 843

而不 382
天下 372
人之 300
君子 299
也故 240

《史記》 《荀子》

哪一部「天下」用的多？

>50万字 7.5万字

出现次数

出现频率



3. 技术：用n-gram找出互文性

• Example: n=4
• 齊桓染於管仲、鮑叔，晉文染於舅犯、高
偃，楚莊染於孫叔、沈尹，吳闔閭染於伍
員、文義，越句踐染於范蠡大夫種。

• 齊桓公染於管仲、鮑叔，晉文公染於咎犯、
郤偃，荊莊王染於孫叔敖、沈尹蒸，吳王
闔廬染於伍員、文之儀，越王句踐染於范
蠡、大夫種，



3. 技术：用n-gram找出互文性

• Example: n=4



4.实践

https://text.tools/ctext

https://text.tools/ctext
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2. 指定文本

1. 选择功能

3. 进行分析

4. 检视结果

文本可以从Finder /
Explorer直接拉过去汇入

(支持.txt和.zip)



4.实践：推荐路线

論語 Regex =>在「Full-text search」輸入regex內容，按「Run」

墨子+莊子+荀子 Similarity => n=7 => Run =>点击红色部分；
点「Similarity matrix」=>「Toggle values」；
点「Chapter summary」=>「Create graph」 =>「Draw」；
双击任网络图中的边

试用文本 主要操作方式基本技术

Regex

N-gram

Vectors => Run => Toggle values =>点其中有红色的方块；
点其中的字词现实语料库中的分布；
点图中的内容以现实对应内容；
点「Vectors」回到原本的位置

Cosine 墨子



4.实践：推荐路线

明代小说 Regex =>在「Full-text search」輸入regex：一行一个regex
（如下），选择「Chapter」和「Normalize by length」，
点「Run」
再点「Summary」 =>「Create vectors」 =>「Run PCA」

试用文本 主要操作方式基本技术

PCA



4.实践：推荐路线

明代小说 Vectors => Run => Run PCA

有什么样的结果？结果跟文体分析/作者辨别有关吗？

试用文本 主要操作方式基本技术

PCA +
TF-IDF

（所有词汇）



4.实践：推荐路线

注意：用所有英文例子/以分词的文本
时，要吧「Tokenize by character」取消；
否则，系统会一个字母一个字母处理

英文文本/
现代汉语 /
已分词文本

Transform =>在「Register」 =>选择转换类型 => Run /
Apply to all以进行分词

试用文本 主要操作方式基本技术

分词



文体分析 Stylometry

• 经常用在作者辨别（authorship attribution）
• 文本A的作者有不确定性：最可能是作者X或者作者Y；而且，我们有其它文
本确定是作者X和作者Y写的。

• 不同作者有潜意识的写作特征（如：某一些单词、语法结构等用的多）
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文体分析：Principal Component Analysis (PCA)

• Modeling texts, we often use vectors to represent documents
• We used these to represent text digitally
• We used these to identify textual similarity
• LDA topic modeling is based on the same idea
• Vectors are convenient for computers…
• ...But: too many dimensions for us to visualize

• Hard to see patterns, even when clear patterns exist



Documents as Vectors (again!)

我们 / 不再 / 简单 / 追求 / 
经济 / 增长 / 的 / 高 / 速度
/ ，/ 而是 / 强调 / 经济 / 
发展 / 的 / 质量 / 和 / 效益
/ 。

Document 1

提高 /实体 / 经济 / 的 /
整体 /素质 /和 /竞争力
/ 。

Document 2

All words
我们
的
提高
实体
和
不再
简单
追求
经济
增长

…

Doc. 1
1
2
0
0
1
1
1
1
2
1
…

Doc. 2
0
1
1
1
1
0
0
0
1
0
…



Documents as Vectors (again!)

All words
我们
的
提高
实体
和
不再
简单
追求
经济
增长
…

Doc. 1
1
2
0
0
1
1
1
1
2
1
…

Doc. 2
0
1
1
1
1
0
0
0
1
0
…

doc1=[1,2,0,0,1,1,…]
doc2=[0,1,1,1,1,0,…]

If only first 3 words:
doc1=[1,2,0]
doc2=[0,1,1]

If only first 2 words:
doc1=[1,2]
doc2=[0,1]



维度、向量、和可视化

1 Dimension:  x-coordinate
Example: [1]

[3]
[10] 0    1    2    3    4    5    6    7    8    9   10   11

2 Dimensions: x and y
Example: [1, 2]

[2, 6]
[5, 3]

1    2    3    4    5    6    7

8
7
6
5
4
3
2
1



维度、向量、和可视化

3 Dimensions: x, y, and z
Example: [2, 6, 0]

[2, 6, 2]

1    2    3    4    5    6    7

8
7
6
5
4
3
2
1 1    2    3    4    5  

电脑屏幕是个二维空间！上述的图是一个
二维投影（2D projection）。



维度、向量、和可视化

4 Dimensions: x, y, z, a
Example: [1, 2, 5, 1]

[2, 6, 1, 9]
[5, 6, 3, 8]

?? ?
PCA也可提供一种投影的方法，从任何维度空间到二维空间
它的特点：

• 根据数据点而选择投影的具体方式
• 是一个linear projection
• 会尽可能保留数据点之间的variance（方差）



PCA能做什么？

让我们可以把握高维度空间中的数据点长什么样子

如果我们看到PCA的不同类数据是（linearly）separable，高维度的点中也是
PCA和文体分析：
• 可以指定我们想分析的词汇，作文本向量，然后用PCA可视化
• 这样可以看出不同文本的整体用词特征
• 问题：「文体分析」应该用什么样的词汇去分析？
• 在文体分析和在主体模型正好相反，我们想忽略内容而重视形式
• 因此，经常会用虚词当作相关词汇



Principal Component Analysis (PCA)

Computes a linear transformation from ℝN → ℝN calculated from set of data

• Linear transformation such that in the transformed space:

• Dimension 1 accounts for greatest proportion of variance of datapoints

• Dimension 2 accounts for next greatest proportion

• (while being orthogonal to previous dimensions)

• …

• Keeping the first M<N components gives a projection into ℝM

• Here we use this for visualization of ℝN in ℝ2

• Effectively choosing a projection s.t. maximum variance preserved

• Gives a good sense of e.g. how linearly separable data is
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Example – Wizard of Oz

两个作者写了一系列小说中的所有的（或绝大部分）文本

• 作者一：Baum；作者二：Thompson
• “Wizard of Oz” + 几十本续集

• 全部都有相同题材（小说、幻想fantasy类型，等）
• 不同文本中有不同人物，但是内容整体相似

• 可是：这系列中的一本不确定是哪位作者写的

[Similar in principle to another well-known example, “The Federalist 
Papers”]

Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 76

https://dh.obdurodon.org/Binongo-Chance.pdf


Example – Wizard of Oz

Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 77

https://dh.obdurodon.org/Binongo-Chance.pdf


Example – Wizard of Oz
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Example – Wizard of Oz

Texts by 
Thompson

Texts by 
Baum

Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 79

https://dh.obdurodon.org/Binongo-Chance.pdf


Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 80

Overrepresented in 
Thompson

Overrepresented in 
Baum

P1j

P2j

https://dh.obdurodon.org/Binongo-Chance.pdf


Work by Baum

Work by Thompson



Additional texts [not 
in the official Oz 
series] by Baum

Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 82

https://dh.obdurodon.org/Binongo-Chance.pdf


Additional texts [other 
genres] by A) Baum

B) Thompson

Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 83

https://dh.obdurodon.org/Binongo-Chance.pdf


Who Wrote the 15th Book of Oz? An Application of Multivariate Analysis to Authorship Attribution 84

The contested book

https://dh.obdurodon.org/Binongo-Chance.pdf


PCA & Authorship
Can we use “everything”?
• Compare “Valentinian” (by 

Fletcher) with “Merchant of Venice” 

(by Shakespeare)

• 1 document per chapter of text

• TF vectors (normalized by dividing 

by document length)

• |V| dimensions

• Here |V| ≈ 6000

N.B. As you can see from the tokens shown by the vectors 

on this slide, this is a simple “back-of-the-envelope” 

example in which I have not been careful about many 

details (e.g. text preprocessing) that we have already 

identified as potentially problematic. In your reports, you 

need to be more careful than this!

…

…

…

…

…



Authorship attribution – example (TF vectors, by act)
z 2

z1 86

Q: Why might this linear 
separability not be 
surprising in this case?



Authorship attribution – example

Linear transformation z = Px,  z∈ℝN,  x∈ℝN

#$ =&
'()

*
+$','

In each axis in the 
projection, a weight is 
assigned to a vector 
component – in our 
example, this corresponds 
to a specific term

Merchant of Venice Valentinian

%
 o

f t
ex

t

% tokens that are “the”

% tokens that are “,”

So
rt

ed
 b

y 
|P

1j
|

P1j

z1 (horizontal coordinate 
in last slide) is the sum of 
all these values multiplied 
by the TF of each 
corresponding term

… …

Vj



Authorship attribution – example

Linear transformation z = Px,  z∈ℝN,  x∈ℝN

#$ =&
'()

*
+$','

In each axis in the 
projection, a weight is 
assigned to a vector 
component – in our 
example, this corresponds 
to a specific term

So
rt

ed
 b

y 
|P

1j
|

P1j

z1 (horizontal coordinate 
in last slide) is the sum of 
all these values multiplied 
by the TF of each 
corresponding term

… …

Vj

z 2

z1

I.e. if we write tc for term frequency of token c, then:
z1 = -0.453t, + 0.378t. + 0.319tthe – 0.246tye + ….



Authorship and “style”

P1j

… …

Vj

Names of characters 
appearing in plays: 
excellent discrimination 
across authors, BUT 
unlikely to generalize well Normalization may be 

important – we could just 
end up learning typographical 
distinctions (e.g. speaker 
names in ALL CAPS)

If we’re sure the texts have 
been prepared in the same 
way, punctuation may be a 
good discriminant (perhaps 
the best, on this data)

Grammatical particles (“the”, 
“a”, “you”, etc.) seem good 
candidates for discrimination 
since they are not obviously 
determined by content

89

Composition date: “ye” is a 
now obsolete English word 
meaning “you” – would not be 
present in a modern play



Authorship and “style”

Pitfalls:
• Classifying correctly does not imply classification by style!

• Could be by content or anything else correlated with features (inc noise)
• Could be genre (e.g. poetry vs prose)
• Models explainable with reference to e.g. textual features desirable

• Common difficulty: not enough independent samples from each author
• E.g. can segment long works, but must ensure testing uses only entirely 

unseen texts (i.e. not unseen samples from a seen text)
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